We will reduce this circuit to a single resistor.
We’ll start with the resistors far away from the terminals.

The 3, 6, and 2 k-ohm resistors all share the same pair of nodes, so they are in parallel.

So the voltage across each of those resistors is the same.

To find the equivalent resistance, first add together the reciprocals of the resistances, and then take the reciprocal of that value.

The three 6 k-ohm resistors share the same pair of nodes, so they are in parallel.

For three identical resistors in parallel, the equivalent resistance should be an individual resistance value divided by three. We verify this using the same method as earlier.

Now we have four resistors in series.

The equivalent resistance is the sum of these resistances.

